J9A0—XI kY kMY —F

= . ER R
EEME - 3EHOA—F
F v FOTHEHLAZEEINTNET
FEEE 8
[—7H4—| H
| |
I
7 %
D D
SHEEA A D (B mm)
R2OFE e EARE D L H P TR
M4 x0.7 KFC-4M-2.0SF | 0.5~2.0 6.3 15.0 1.5 —_— 6.4
M5x0.8 KFC-5M-3.0SF | 0.5~3.0 7.1 20.3 8.3 — 1.2
M6x1.0 KFC-6M-3.3SF | 0.8~3.3 9.5 23.5 10.9 — 9.6
M8 x1.25 KFC-8M-3. 7SF | 0.9~3.7 10.6 23.6 11.7 —_— 10.6
EEEAR A T
RSB 0% mamE | D L ; Pl Fre
=3 . = +0. 1 +0.3 |[+0/-0.5| =+0.1 =
M4 x0.7 KFC-4M-2. 5LF
M5x0.8 KFC-5M-2. 5LF
M6x1.0 KFC-6M-3. OLF
M8 x1.25 KFC-8M-4. OLF
EREHIEtEE D7 X+ — http://www.fastening.ip/

T 374-007 38 /% R EEMTH 2 RET1090-1
TEL 0276-72-7450 FAX 0276-60-5284




